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*Integer type variable (e 5129 wnfitase)
*Character type variable(FEF0E 5127 snfacae)
*Float type variable (G 2T wnfitaze)
*Double type variable (T<e 5129 wrfitsw)
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6. Binary Sequence

1. Numeric Types :

(a) int (a) bytes
(b) float (b) bytearray
(c) complex (c) memoryview

1. lterator Type: 7. Mapping Types :

(a) generator (a) dictionary
1. Sequence Types: 8. Others:
@ list (a) modules
w» tuples (b) classes
© range (c) functions
1. Text Sequence Types: (d) methods
(a) strings (e) code object
(f) the type object
(g) the ellipses objects
1. Set Types: (h) boolean values
(a) set (i) the null object

(b) frozen set
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CATITTH (FI YATNF ©I6T BI2 A JIIRIF FAT (TTHTYR O TN G ATRAT Type ()
WIL¥N IIZNT AT I | fRTH Type (JFILN TIZT STy F4AT ZCATS

CLIEGRE

>>>a=1

>>> type(a)
<class ‘int’>
>>> b =3.1416
>>> type(b)
<class ‘float’>
>>> ¢ ="Hello world”
>>> type(c)
<class ‘str’>
>>> d = True
>>> type(d)
<class ‘bool’>

ARG SATRACN (AT 1T (T, a (AT 206 GBI, b I GPI6L ATT6 BIRCAT,

¢ =0 552 BIRUNE, d =LA bool BIRIANF, M Type () PISFTND NLFTN GINCS NFATY |
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int(x[,base]) 352 x (B NS AFTON FHIE G  TIRANG 920 =7 |

long(x[,base]) .
553 x (3 I AT FAHLAY NFION AR G 4 PIAG 7770 1Y |

float(x) (ST x (F TP [T ALY (floating-point) BATET B G
FIHN0 IIIZ© 27 |

chr(x) OGIH B3 TGS PIIIIF 512N T PATS B G5 & TN
qI]R® X7 |

unichr(x) 3OGIF D12 GIIP 26PN FICIRIL G129 GO FATET I G

R DITRIEECERE
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fahrenheit = float (input (“please enter the fahrenhait temperature:”))
celsius = (fahrenhait — 32)/1.8
print (‘%0.1f degree fahrenhait is=% 0.1f degree celsius’ % (fahrenhiet, celsius))
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e PR-9T toeE 9% F99 | @i Value of a=10. value of b=50

G T 5iftE STCRTEAIE FNT F AL FACS [©F Ty

1.s=*“This Is a string”

2. words=s.split ()
3.forw in words:

4. print (w)

5. prtnt ( *“ .join ( words) )
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>>> """ Me : Hi, Therel
...She:Yes, please! """
‘Me : Hi, There!/nShe : Yes, please!"



\n



\n
\N{name}
\rASCII

\t

\UXXXX
\UXXXXXXXX
\v

\ooo

\xhh

escape

‘000’
‘hh’
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http:??docs.python.org/library/srdtypes.html

QT GF (T (TSN T | T8 F19 PR (12 | 9 @1 (51 Jferear et
20 | R PR AR O] GIFCO B | G2 T SR (PG TN O (TO] DI F09CT

O (FIC (A AN oTATe AACET | A AT PG N s & F409 27 | TN
R, Ao SR (2, TAIRIRET T Iy | ©13 Q2 T St 99 A9 vaFi9 |

QT NG 1] Q0T (FIC TGt | (T @67 G 9T AR FIEIBIeE (=5
FTeF FAOI0 FACO |
Step No: 1 s=“This is a string”
Step No: 2 print(s.lower())
T ST @is PoR R | @9 7351 SHR6T IY RICoe 2o, @ 2t ol lower
T8 T FATS AILTEIR (B0 TS AFd XS Ao ZE0T |
QI Uper FKCET AR KIS 99 Q0o T M| |
Step No: 1 s=“This is a string”
Step No: 2 print(s.lower())
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>>>“Bangladesh” + “To” “Bangladesh’
>>>‘\Wellcome To Bangladesh’

>>>

73 Phr-93 STy T (e s

4L

>>>“Wellcome” + Desh’
>>>‘Bangladesh’

>>> print (“Akhi” + “&” + “Anu”)
Akhi & Anu

>>>
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>>>‘Desh’*3

>>>‘DeshDeshDesh’

>>>4*¢h’

‘5555’

>>>

TR ARG PIFCF1ET TBT B30 i@ (FTT) AT T T AT (S (FI WD
aa

TRIT T 9900 o R SATCE07 IRRS 41 =W | CRIRA A2AE54 R 39 @32 96 3
Vo ARG IR T LT |

|N SATEGR3 W (FF G0 FIRBE @ WD (15207 Teage 27 1 KO IR o5 9 I
RIS I B O A P |
3z

>>>

>>>‘m’in ‘akhi’

True

>>>‘m’in ‘akhi’

False
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>>>

>>>‘m’ not in ‘akhi’

False

>>>‘d’ not in ‘akhi’

True

>>>‘N’ not In ‘akhi’

False

>>>‘p’ not in ‘akhi’

True

35 T it 1320 Fh: TG FNE5 REWI %S FA09 99 T4 &7 |
7

>>>

>>> x= ““| have only %d %s ‘% (1000, ‘Taka’)

>>> print(x)

>>>
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>>>a=10

>>> p=10

>>> print (Value of a={}, value of b= {} format (a,b))

Value of a=10, Value of b=20

>>>
BATSARS ~ATRATTT e 352 @7 AfSB TomitTa Tacefae @ +41 AW | 97 FGe W7 afsfs FrasEs/ Samiea
G35 [ #IfEmi o Sepits 52 @3 afSfs Sames Sagieme efas 3 i | I Titre @ fGe @«
BT FACS B3, OCF AT TN o70e TR O K 067 foex [ 1w face =2 |
7z

>>> Name= “Bangaladesh”

>>>

>>> Name][0]
QT TORTERE RFIEHTR A7 ITCH RPN o @TRIT BT o AT 7 (& awf vtz | Feaifbe e
SR A AW TR TEH1 9 T IR T | @3 (1) @ (@I FEBEE T I (IR & (iR
RSARREN

>>> Name= “Bangaladesh”

>>>

>>> Name[-1]
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>>> x= “Murad Hossain’

>>>X[0:1]

‘M’

>>>X[0:2]

‘MU’

>>>X[0:3]

‘Mur’

>>>x[0:4]

‘Mura’

>>>X[0:5]

‘Murad;

>>>X[:]

‘Murad Hossain’

>>>x[0:]

‘Murad Hossain’

>>>[3:]

‘sain’

>>>[-3:]

‘sain’
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Len

Join

Replace

Strip

Split

Captitalize

Upper

Lower

Casefold

Count

find

o (rews MRS G a7 T4y FOIFTE GIEFE A AT AR S [z 17 &y foiel T () 592« 31 27 |
e @3 aef @3 SRRl | @ A8TEs @S Built- In- Function 3t = sig@fa i |
7z

AN NI N N NI N N Y U NN

>>> X = ‘Murad’

>>> len(x)

6

>>>y = ‘Mahfuza Rahman’
>>> len(y)

>>>12
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ICLIETOH
>>> Jatiya Songit-’Amar sonar Bangla ami tomay valobashi, chiro

din tomar aksh tomar batash tomar prane bajai bashi”””
>>>print(Jatiya Songit-)

Amar sonar Bangla ami tomay valobashi, chiro

din tomar aksh tomar batash tomar prane bajai bashi”””
TBfCIC 328 AYITS AU @ @I 3G 8 T FTIT @BiF 27 | 7wt R sv [G
I CBIF T & Rifr fRomies o wwiees w1k T8 39z & |
AR
>>> print (u “Wellcome to KPI’)
Wellcome to KPI
>>>
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While True:
print(‘Enter X’ for exit)
string = input(‘Enter any string:’)
if srring == ‘x’:
break

else:
new_string = string replace(” “ “)
print(“\New string after removing all spaces:”
print(new_string, “\n”)

I ICI B

Enter X’ for exit.

Enter any string” Murad Hossain
New string after removing all spaces:
Muradhossain
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While True:
print(‘Enter ‘x’ for exit)
stringl = input(‘Enter stringl:’)
string2 = input(‘Enter string2:’)
if srringl == ‘x’:
break
else:
if stringl == string2:
print(“Both strings are equal.\n")
else:
print(“string are not equal.\n")

Enter ‘x’ for exit.

Enter any stringl” M.D Murad Hossain
Enter any stringl” M D Murad Hossain
String are not Not Equal
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IS not.




T SAEB: JERT ARG ZCET (3T 7 NAACRGF, TR 3oy ST =31 A KO ¢ 19130 e ©yfe] 2eeTt 92io
» True(T must be Capital Letter)
» False (F must be Capital Letter)

¢.8 0T &fres 8 snetabet

ARG (FATC: (T GICLHH G AT TIZ© R0 IR (TR (S Gre FARbcaa Seoreye! fwgiae
I, OIE FATIOCES (FTCTH 0T | (TN U JIFD FIE, O AT/ GHCATCTD, 37 @90 @ S R (<[0T (o7 8 ey |

JAE0T MDD : (@ e et IM GFIEF AAEET TTe T IR GAF FACE0E (@S IW AT 27 ©
QT FIE TIF W (AF BF I 1 A M(F $F Z(J ©f (T @HCSe T [WHiiwe 2, Sitd AATE07 SHIeTPRive’ 6 |



WY LI

P& Q2o
L) : JIEHF @ FiFFSHIeT Jifkee TZF I

TR T (T Statement =S FCATE 1 F21F (@I Statement @3 FEFER 899 o8 T8 79y F400 27
Execution 3% IMTe 2 I (AT @ o« (@I Statement @ ZIFes F0e 27 O3 (At @ K099 @I Jifee
(Branching) G 3¢ |

%) e« Jifkee @ (Conditional Branching Flow)

<) SfE=E Jifee @ (Unconditional Branching Flow)

=TT Jifkee @ (Conditional Branching Flow) :
TLF (ST *S ACATF (AT @F I GFIEF EOOTH (@it 417 (Execution) 2ee ae a4l 201 I G SHTE AW #70 O1e 5 o1
R 41 TR O (R @ 43I 2R AT (FIT FIO<0e Jifdee Tl A6 | 08 @FIvih s My ©f [Sifie QM @

wReere e @ (Unconditional Branching Flow) : @it it afw Unconditional Statement @3 gfeitd 412 &3 w6
wice Unconditional program flow st 1 Unconditional Statement @3 St (@RIGR (FIF S QT W_Me® 2eo AE beqr
fafme ¢ Statement @ jump 3 |




v.2 if ZB6eS, if else GBOTIT ¢ else EOHTNG
weeIer Jifee Boers (Conditional Branching statement) :
TGS et (@A *res fefers wiax fafy fdme Sosiv Wit ey Sfoxmier Jifke: CEoTBwTe Y78 A |

Ficed wivere! (Complexity) SERIRT weroltq (@ials Fhies ey Wafeafe Jifee EEOrEetE Thava IR T
A |

1) If statement 1) if-else statement
1) Else if statement IV) switch statement
Wwﬁ OO :

W s 1 =S Jre JReaeE AMUBSE TFd (@9 I TR G ARG Jifde GEors STIew T | A== Jifdee
«F &y BRI goto-lebel GOHTT IRF® AT AT |

e GoreT Jifdee CGOBTDRTET F< orad TrTT (AT =T |
if Statement :

if ZCAr 22T ceit® @3fs e @@= Decision control statement (AR *1$ AITATH (FICAT GOHED TR & if COBTTG
GROA |

fr-temieT if Statement SIRSIR IR T4 T | TA:

a) Simple if statement (=== if Statement GBEGTD)

b) if else statement (if else PH5TTD)

c) Nested if else statement (7e5¢ if else GHEED)
d) Else if ladder (if-else si1e®)



if-else GBOGIT -
afs simple if statement @32 @G 3fFe w1 | @2 statement G test expression-«a Ferwer true zce true-block € EEETHRTET

4z $9t3 W9 False 2= false-block @3 oomabetaR W% 993 | Sz P (reat e
If (test-expression)

True-block statement

Else

False-block-statement

Else w05t
TR HIBICS ST (qeeif T @ If S o7 2 o Seeigs (@ g0 a9 2 | Else 3@e If 97 AteE wifds | 9die

I Trgiie |f =it 7oy 71 =7 ©rRee Else v Sesies (Fegs A T GfHfees 27 |

If x ==5;

Print (“Its 57)
Else:

Print (““its not 57)
1Co4T,

Its not 5

If Else B0os
G If CHCAR 0 ARY @RI (FE3 AFCS #AI08 FRY T VK A8 I3 Gl |f A1 Else w1fers S« a9 #I1td | @

0o SwiRace &t @ If Mo (6% +41 =0 @ num @3 o5ie] 5 61 |

Else @3 9s 92
wy |f a7 ey 592 Aene Else & 5929 41 I for @32 while Seom ses | SRedelwel, T (I T 0o IS Areld Ol

(19 2 O U3 Y I Else 309 e Ui et 27 |



Simple if statement

@3 statement-f5F QT =€ FTATH @RI @A G0 #M2F I @i w13 (Block) &
R <41 31 RE1R (At e e & 9919 90 =7 | if (condition) GHBETNTDR A (T
TIREES 6 9 | W if Statement @3 =tes s W@ @3B Statement AF I ©F
e T F0E Frwe @ Ioib R a-v.y & I9=w T4 @ AE:

If (test-expression or Condition)
Statement:

TR :

a=40 b=20 If a>b:

Print (“a Is greater than b”)
AIs greater than b



v.© nested if elseCOLIND :
G0 if else COBINTOT N JFEF if else COOINT® IR FACE OILP nested if else CHLING I

IBRIDIES]

If Condition1:

Statements
= else: if Condition2:
| Statements

.else: if Condition n:
Statements
else:
Statements



nested elif COLIND :
G50 elif COLTNTOT N AFEF elif CHEIN6 T I Oits nested elif CHEEING I

IBCIMEE
if Condition1: B2
Statements
elif Condition2:
Statements

elif Condition n:
Statements
else: Statements




Nested if COOIND:
Nested if StatementgH(G if COLBINTOT VT AFEF if COLINT® TIT FA ©OILF nested if e

EROIEF S ]

if Conditional: Test Condition

Statements FALSE
If Condition2: FALSE

TRUE
o Test Condinon
Statement 1 2
l STATEMENT ) l STATEMENT | STATEMENT 2

If Condition n:
Statement I

[ STATEMENT N j
fBZ ' nested "‘mmc




QX LI

Gil&K
Q. HF O & HNB GRS {18 (ZPT

{5 (AT 4 I JHIEP RN A B0 [AME WHNF BRI 210G L2 1 2 WA (AT
B0 [N LT PG *1TS JFIEFAR N2 T T OLN (AN 4 G PGP PG (g JCeT

NSRRI (AT (HICAT A6 [N W I L= (O AH Y 9 G fHCH
SN BG* NI L (T I /

PO (3 9 (AT TR A1 JIH® ST G AH6  Test Condition AT *1S (RN YTHCI / (I ST
"’f@ Test Condition 6 True WY False NI OOV Ff’Tﬁ?ﬁ?‘l? 09 YIRC] /

CATATTNR (T5F W™ IR (VLR T (GTGF WA Body of the loop I TN IS I0eT /

o AT = 9 28T &S 7fo

1. Entry Control system .
. Exit control system




Entry Control System CBR (AL Test Condition fo true (e (A 5[] AN BRIEEI
W false X0 (ATATCNS IS ST T

Entry

False

Test
Condition

| True

Body of
The Loop




Exit Control System (AN ¢J{A ] G R ﬁ?ﬁ'ﬁ’i@ﬂﬁ' T test condition 6 true X( <l°(.§l¢’1
(ATATTNT IS ST 5T I ™S false Z0e LN MG 2NN [RA2 @

Entry

F

Body of
The loop

Test False
Condition

True



q.R Syntax I <TYIT
YT value XCOR (ORI T ATOITF 20T A7 TN IHIHCTH (ATH (O] 42N B

RIS (VT SHATHITN T (MR B N 51003 AN / for G body (B NI FAK Gy
IR FAI =T/

@W:ﬂﬁm.

I







else for loop :
For S MY Aofq& R else TFS ATHFTO AL / for FLANI FIOAN false (e else G

(PG T Ao =</
For ] I FJI GT break CHLING TR I =/
U else DH (PIT OLN2 HNF XY YN (FICAT break COBINE AP I I3 FOAN false

I/

ICLAEGLE




1.9 While Loop

(I IS (PG JrH A0 FAK G (AN I G IRV T T/ TS TN IS Text Expression
FIO# True AMFH ©© ANY G (FIG FH(H 206CA6 P G ATRATN While Loop TIZS R/ CPICAT
(NG FHF(F PO S AFA 2610 FICO I AT O G N AHCE SN LIV 2 IIZE I/

Condition

Update

Body

Results






else while loop

For {J{AL Il while J{Y98 OIS else TP ARFCO AL /
LG while loop FIOM false (T else W* T™AMO [/ while IH FK GV break COGINH

TG FAI N/ A6 else TP AfFCT I/
OIS loop JF else ¥ (HIeT WUV FH™NF XA Y (FICAT break COHLNG AP I 3

HFFOH false A/




q.8 Infinite 8 nested I CGOBTN®
Infinite €™ CBBLYG: (AIANT_GF 1 APNMEF_COOING(P *OINOF ] WRAUE WP -

RO FACAN AP AH 2NFNE g 0T | ATRATN T2 NS 2NN G o] (of g FT I | IAT-

P

» Infinite for loop: for CHHING IR P R | Cofd A1 T OIS 2NPING for A T (YN N-
| =[1]

for xin I:

l.appeind(x+1)
print(x)

> Infinite while loop: while (OGNS IIRIK B Infinite while ¥ (fF F1 3|




Nested I BBINB: JBID N3 CHBINGH KT WA (BTN I
PGP ™ CBOINT AR P OIP (VGG FfH2 ICeT | AR {2
AN (NG T A | 2T

1. Nested for T CBBINB: LN JF0 for ™ CHLINTHI VLT =3

(PN I M RN for eI (CHLINL IR PN Y O OIH
for eI (T |

IBRINES:




2.Nested while ™ (SOBTNBS IYN A0 while FCHNT LT AF I JFEF while T (TN FAT =T,
OPN OI(P Nested while ] JCeT |




q.¢ Break, continue 8 pass (GBBTT®

AR FO LN A PRI CHLHING AR | IT-

> Break statement: Break (CCGTNBF FIG[ 20T Break (SHHING AT WAR N AfAFO
OIFFINPWIC] (YT eI (Y(<P (99 A M <R ch’ﬁfw (RICNT SOBING ATHRCEA (IS
¥ B3| CACR ORI




> Continue statement: Continue (OBINGF FIG T Continue CHEINT ATSTN WG NI
AT OIS SH PO (TN M FE 7 (ATH (IF A I N | QYT
WHHP M TS 432 T P LT PG ST FAE |




> Pass statement: Empty 9 (<9 Gi«¥J Pass (COGING 5929 2| Pass

CHEINT® IR FACE (P 578 — 9 ST o156 g7 ST ST 40T oo =6
U (ML |




q. G OB FIZE FIT (AT

COATATN -3: (AT G0 ANTLLT 2995 fNTT & ALY W] 6 FATF (AT




v G

oP%
v.> oP% @ 57 ST
o5 o b 2eoR AT T Cfb@ele BiGT BIe, A AR JICE0 [ | 93 (S0 I AR SoAMTHR < Tl 2 [
o0 O3 TAMITITT IS TCOT GF2 T TIGT 5137 I AE (72 |

bR F5 Srimiw SR
TR0 TN SHICHAPTR F19 &) AR ey “imfe ebfere SR | T:
> BECEHER Amfe
> TACIDS BCeieR aie
> TIEPR e
IFCIR A& : (@ Twfore FEoT (@9 NBEACE WICHA FAI9 G 39(CH 999 IR/ 31 2 OI(F 39T (AL A7®

0 | [0 N0 T9E ©F T o (AT |

TACID® SATSAR 1@f® o123 0TI -5 7 FICT TIET G -2 T fES g ARG NF R | 9oL
T 39CEAR -9 IRIBETCS AT |

TR @S : T3P TAEET (3)IFIET T IR 67 NBEAE ST AR(SCF T3 AT |
b0 Fe5T BAmiT Siteite ¢ fereiie
o7 T Seiteioe: 6 SAWIY Wtelbe I90e et e 30 (@ WRGIRTE AT CIETAR I64T (&I
Afqged, ARRET e, REe™ o5 AT 0T |



57 T (BT TAMIT HLAGH : 700 T« (I AISCEA HLATS FACS HI3C 212 o (0T FIeHe 72T 7 77 | T
append() ==, insert() T, extend() T |

0 97 (I TAMIT REAEs : F106 (A0 G (FIF TEE IS T T AR G2 LR T [ S0 =7 | 727 del ()
9 8 remove() T |

v.8 ferobg fafey W=
ATRYTH (N6 O LTI ATCI*N (G | T2

> PAPICOHNN WACI6F
> R =mana
> OIS SAH6A

FABICO* S ATCIOFS
70 A0 GAMIN STHZ (F HATF B V@ (I 756 (0P GNF FAFICH*N WATIGA (+ ) BVIZF FA 2T | (TS
List1= ["Mahbub", 960021, "Mahi", 23022015]
List2=[19072017, "Mahdee", "Tahsin"]
List3= List1+List2
Print(List3)

Output: ["Mahbub", 960021, "Mahi", 23022015, 960021, "Mahi",  23022015]



1515 SRR RS RIS CEE:
(W A0 RN BN SR (F JHFMEHFI [0 F17 T RN S2Aa67 ((+ ) I3 FAT =T | (TS

List1l =["Mahbub", 960021, "Mahi", 23022015]
print(List1*2)

Output: ["Mahbub", 960021, "Mahi", 23022015,"Mahbub", 960021, "Mahi", 23022015]

(TN ATI6AS

(W 063 W3y e (N AATNrea SRS 1 WARS (6F FAK G (TFIA HATIOS (34 A6 24 ) JIRF BT =
| (TN

Listl =["Mahbub", 960021, "Mahi", 23022015]
List2=[19072017, "Mahdee", "Tahsin"]
print("Samsul" in List1)
print("Mahdee" in List1)
print("Mahdee" in List2)
print("Mahbub" in List2)

Output:
False
False
True
False



b.¢ feI00 1920 970 29 T1e9I 8 (NATTYR

IGISCRISEICICRUEC BRI
AR (ATATCN o755 NN TooId AT B STAMIN G5 0O (I (PR o0 BN PN (AR | (TS

ICEoETRORD) N

% Min - [0S0 STFe GAMITNT W&T (QG WRIGN QNG G)

& Any _ G3Hf0 NN T3 (A True TON FR | 760 A1 =0 False RO R
% Enumerate - [A063 STFe BAMITAT RNIOH NFF @ OITHd N L1 P

& Al - A6 e BATAITNI N F X(A True IO FCA |

< Cmpl(list1, list2) - PG FTTB BAMIN STHIRT VT QeI B

% Len - [0 STFE BAMITNE ST S Gy =€ =T

% List - RO BTGl YR (F [0 NS G IR Y

& Max - {63 TFe SAMING N(HT 010 GINIF G IIRF =T

% Sorted -GG o IO I7 O IR =T

% Sum - A0 STFA OATRING (TI9TFeT G Gy IR =T



eIt 79z (70 2 (WATSTYRs
(AT I

Extend - 3 06T BATHIN &7 T30 S TIo F9090 FIRE =T
% Copy - N FHE G VIRE =T
&  Append _fATH (10T G0 A6 T FA FAE G IR =
& Removed _ G356 WO (F fT© FAK G 1324 =7
% Insert (PN RGN SIS G IR T
%  Index - eTCNC0F WIFW (6P P GY T2 =
< Pop - IR (I WROW (P [F© FAK G 17209
& Clear - G 1001 AR AN (P F3[© FHIK G I
% Count - I A6 STFe GAMIN ST NN B Gy IR =
& Sort - I [A063 A6 GATHI JTANGE O SN G BIRF =
% Reverse - 3 067 SFe BAMIN fForst SO TSI G IR =T

V.Y o0 9 B FFONT (TN
A0 056 FOBTEAT U ING N OITHg (A19TRe (NI (AT



Numbers =[1,4,9,16]

sum=0

for num in Numbers:
sum += num
print("summation is=", sum)

z =[10, 20, 30]
print(all([x>10 for x in z]))
print(all(["","0", [0], "None" ]))
print(any ([ x>10 for x in z]))
print(any([ x>50 for x in z]))
print(any([], ( ),{ },None 0 ]))
print(any([ 0], (),{ },None 0 ]))
print(all(([]))
print(all(([]))




SN I

BT
5.> BT 8 Broitet SitiReT -
Brofet : BioieT 20 ATZRCR AR (&b@=e ©ibT 512l AT ATENCAR JHICFs () T (007 FNR AR SAMIR M T4
EUISIS]
BT < THAWINTHT SICE TCOT AFR TFN ©IGT 513 I LTS (1R |
BT Syie] SUIIRNGTD
> | BI2ITeTa T<GBIA ABeT S A 180 ST ST Toe SFIfRe ReAed SiAiss S0 T |
2 | BIHETE 0 (1 (SRR &) GRS Ffe] SUIied $40 20 @ (CRERER 4 * ©F 7@ 3@ @ (@ TLF T
A TCYF SHIAR F 7 |
Brstet Tomie SicfR
BT SAMIN SHICARTR S & #1220 RSy e avfere Stz | 72
> 3R *afo
> TCIb® ISR Tafe
> TIRPR e
BFCCIAR 1@l : (T AHOCS Gl (1 AZGACE I FAIF & INCH 79 FIRIT T4 R OICP ECSIAR Aaf®
JCT | BI9IT BOH 9K U =F o (AT |

TGS TSR &f® o12ACT T -5 T FICT TIET G -2 T S g ARG NE R | oL
eI 2HTeRe -3 9= BeeTte A |

TR oG : TIEFR TAEET (3)TFIET TR I GIATHT A IONCE WICIH Ao orF T3P 0T |



5.3 B T Sreitefby 8 ferite
BT TAMIT SoTeBR: BroteT SoAWIE Seite b I60e 6 e 3000 (T NBoNSTET W07 (TR N4l (&l
sAfaed, AT ARG, RS To5i AATT*NE JI | ARAC 57 Iro! Bioitet Srace! Afiqed, ARady Far I

BT 9 (1 SAMIT [REASs : BIATeR (A0F @3 (I NG fF3[e B @ 1 | O I BrAe1esp fefers <11 A | «@ereyy del ()
FIH IR <M RJ |

5.9 SR [RFox AT
HTRYTN (N0 FO~ LITNT AT N AR | IAT

> PAPICOHN ACI6F
> R =mana
> OIS SAH6A

FADINON HATTAGAS

TG GIAE ST STYR (F STF PIE V@ (BN B9 (SRR GV BNPIOR ANTIGA ( + ) T2 I =T | (T
Listl= ["Mahbub", 960021, "Mahi", 23022015]
List2=[19072017, "Mahdee", "Tahsin"]
List3= List1+List2
Print(List3)

Output: ["Mahbub", 960021, "Mahi", 23022015, 960021, "Mahi",  23022015]



ElRICRE A Rl GICEE
(W BT RATN SAMI YR (F JHFMGHFI 0 FF G [T ARG R ( + ) I AT =T | (TANs

List1l =["Mahbub", 960021, "Mahi", 23022015]
print(List1*2)

Output: ["Mahbub", 960021, "Mahi", 23022015,"Mahbub", 960021, "Mahi", 23022015]

(TR AATIOR
(PIN BITETa W& A% 8 (P AT SRS 1 AYAES (5F FAF G (THRANN AATIOF (27 W6 2 ) BIF BT
I | (NN
List1l =["Mahbub", 960021, "Mahi", 23022015]
List2=[19072017, "Mahdee", "Tahsin"]
print("Samsul" in List1)
print("Mahdee" in List1)
print("Mahdee" in List2)
print("Mahbub" in List2)

Output:
False
False
True
False



5.¢ BI?I08T q19%o 375 3 DI 8 (VTR

BIoICe 9o (95 3 BIR#Ts
IR (ATATTN BT (NI GO S5 FIG STHARINL Gis TS (¥ [FR [0 2N FIAN IR | (TS

=8 2 I AT

% Min - BI#ITeT STPe] BATHICNS N(&T ({6 RGN G G)

% Any _ G3HT0 NI 5T8Y T True RO B | G194 QI Z( False IO F
% Enumerate - BT TPl BATAING 2O H NS 8 O NI {19 B

& Al - BI9ITeT STpeT BATUITNS NN S9J =(A True A0 (A |

< Cmpl(list1, list2) - PGP BIoIteT SATHIN TR NKT Qe B

% Len - BT Pl BAMINL SR T Gy IR Y

% List - ROIR< GI6I YR (P BIIteT AATSIIT Gy IRV =

& Max _BI9teT STPeT BAMIING W4T IGI0 GINIE G I T

% Sorted - STHG B BN 9 G I9=E =

% Sum - B9 ST OATAIING (TI9TFeT G Gy IR =T



eIt 79z (70 2 (WATSTYRs
(AT I

Extend - 3 06T BATHIN &7 T30 S TIo F9090 FIRE =T
% Copy - N FHE G VIRE =T
&  Append _fATH (10T G0 A6 T FA FAE G IR =
& Removed _ G356 WO (F fT© FAK G 1324 =7
% Insert (PN RGN SIS G IR T
%  Index - eTCNC0F WIFW (6P P GY T2 =
< Pop - IR (I WROW (P [F© FAK G 17209
& Clear - G 1001 AR AN (P F3[© FHIK G I
% Count - I A6 STFe GAMIN ST NN B Gy IR =
& Sort - I [A063 A6 GATHI JTANGE O SN G BIRF =
% Reverse - 3 067 SFe BAMIN fForst SO TSI G IR =T

V.Y o0 9 B FFONT (TN
A0 056 FOBTEAT U ING N OITHg (A19TRe (NI (AT



BIoIteT 1920 706 B (NATHARS

AT AT
< Index () - eTTNC0F WIFW (6P A G IR I
< Count () - 3B BIACETE TP GATAN LI NN FAK G5 9209 =Y

NI G6: “13AT (16 A 69 o2 OF 4909 ©IoT 513 |

BT BAMIT SATSBR: AR G5 (I G0 QRIS e ey add() GIT ¢ @R GFifE ARG AT Sy
update() (LT [HIRF FA1 T |

B T RTAers: A8 GI67 AfWE (@i ToAmacs e w17 &y bR (e I53%7 31 7 | - discard () o=, pop()
72, remove() arre, clear() T |

AT 6T TS wAcRI:
BTN AT
ST AT
fCHIES AT
Gl AT @
PG fCTIEs ST

VVYVVY



AR fe=iifa
fEF==IT OIF U 4TI TIBT [T Fte 0T T3 R[Sy 47 Wt I S[eed COR 741 ¥ 193 THiface @fems
STHICP NI BT FACO 7T | (ARNECPS AfSB RIS &y Sietm Siierwt 3qcesy WdRe s0s Wre 237 |

5.b DI IR I G0 AT
my-tuple = (1,2,3)
Print (my-tuple )
output: = (1,2,3)

my-tuple = (1,"Hello",3.4)
Print (my-tuple)
Output = (1,"Hello",3.4)



o TG
T
30.d T T

TR : I R G0 I (AT G0 T F7 &, 7 @6 [0 T A, T 9F 1 GFIfEF EOoesd
TN A5 32 NS @I AT AN T TI2e T |

BI*N IIIRMCAF Jf4Te

> I G P A (ATATCN (I WLH Yo (ATACN ]I (AR (ATNG =2 T
> (TSN 3G (Q6 =
> (AT fTYTS ST HCAHIP© B M|
> TARICE O el @ el 1 7% 27 |
> O TPl (ANTNCE T O TRERTS TN 0 AT Iy I[LIFIAT ARG ©F JIZNT FACS A0 |
FIHC SFIE0oN:

> 0 3 T I ARGER T

>  3TuA fowieT w1e

TR B FIve 1 ARG FIRAT : (T 7T PG (TR Fo 7K (A2 e Fices &y feadnge, =e<ial bidtne
TS TN TS FACS AT TN (7 7T TP SIS T 0 |

T CFIRT T : T AT AT O (ST TG QR Q! AT (F-31F T I F08 (2N TR T
(7 AP FIHNCF 2T (G2 FILHF I |



0.3 TN COfF 8 T F4!

AT 0Oz AAIZACH FIHT SR AT 919 2wt |
def FunctionName (Parameters):
Statements
return [expression]

@ WWE e <919 ooy foweT s 337 |

FIA Flere: call *Tw I TI! A1 T FAI | AT T (FI P [GFEN Ffe U O GFIT W (M2 R ATSIHG TR
30,9 AT R (T 8 AT AR Sfie

AT I3 @I (I (SREAET ARLTICHT WL GF FIH (ATF Sy T BT AT Amford AT 13
@FICET 0 |

AT IR SFIT : I T TG AT AASTHD (ST TILGITT GF FIH (ATF A T TIoT ANGHT A& or o117 13
Ofle] JCeT |

0.8 FITH HRITHACHR IR

TRIR G T PR SETT AFCS A DI AT FIHAT A N T A BIfRAT FIOCTF AT I
9% SETHETET AR WIS 2002 O, 3 TS I FA AN A2 FI0S B30T [Bwizdet -




def show_double(x):
Print(x*2)
Show_double(2)
Show_double(100)
S5[G,
4
200
Def make_sum(x,y):
Z=x+y
print(z)
make_sum(5,10)
Make sum(500,500)
15
1000

* T QI I TCFIET F91 2 O AT (SRR ATV e 2 [N I G0 FIHACE 67 91 2 O (72
FIL SATRING MR @ Spie AT T OF NGNS e 7 |

d0.¢ SIfY 8 AT FIHF (RS

Folfed 8 WCE () FNCT #1232 (oflaies Ry R ST T {wiae &wy AfCTeT FCACR (A
(i)Date

(i) Time

(iii)Datetime

(iv)Timedelta @32

(v)Tzinfo




ST e sifge e
UIEGRE
from datetime import date
from datetime import timedIta
daf tomorrow():
return date.today()+timedelta(days=1)
print(date.today())1
print(tomorrow())

2018-01-20
2018-01-21

30.Y FIH IRT T (AT
FHIHT IR FCA NTOCHCAT (R o= (ofali:
def Area():
length =intinput(“Enter the value of Langth:”))
Width =int (input(“Enter the value of Width:”))
RectangleArea=Lengh*Width
Print(“Area of Rectangle is =,”RectangleArea)

0.9 (SRGERER (F

(SRRERER (F O3 827 fofe T3 (SRR d4iTe 732 | T-
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>>> Print(“Hello, How are you?”)
WT@B"JB:

Hello, How are you

Print() BIL¥ I SN0 Print() TIL¥ I SN0 T 575 N FIWI6 = AT

Print(*Objects,sep=",end="\n’ file=sys.stdout,flush=False)
(Y-
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file object=open (file_name [,access_mode][,buffering])
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*Experiment Name:[Simple programs using basic structure of a programming
language(python)]

*Do not adopt unfairmeans in the exam.

* Print(“welcome to python programming”)

*”Welcome to pythone programming” to print this massase:
Print(“welcome to python programming”)

. 726 oG WU (T

numl = int(input(‘Enter first namber ‘))

num2 = int(input(‘Enter second namber ‘))
result = numl+num?2
Print (“Result is “, result)
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num1l = float(input(‘Enter first namber ‘))

num?2 = float (input(‘Enter second namber ‘))

result = numl+num?2

Print (“Result is “ result)

* (AT 552 2B T I aywita coprae
String = input (‘Enter your String:’)

Print (“You have entered:’String)

7B TS 553 FRTItT AT Srong SRSIMBINE AW~ |
Numberl = input(‘Enter first number:’)

Number2 = input(‘Enter second number:’)

Result = Numberl+Number2

Print(‘The result is=,result)
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Stringl = input(‘Enter first number:’)
String2 = input(‘Enter second number:’)
Result = String1+String2

Print(‘The result is=result)

*TfB AT SITeTT fNoftaa coraw
Numberl = input(‘Enter first number:’)
Number2 = input(‘Enter second number:’)
remainder = int(Numberl )% int(Number2)
Print(‘The result is=*, remainder)

*TfB AR wrorHe Nt T
Numberl = input(‘Enter first number:’)
Number2 = input(‘Enter second number:’)
division = float(Number1 )/ floatNumber2)

Print(‘The result is=*, division)
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n=int(input(“Enter a number:”))
If n<O:
Print(Enter a positive number”)
Else:
sum=0
While(n>0):
Sum=0
sum+=n
n-=1
Print(“The sum is=,sum”)
*FOYHAT FLYT INAB T orna 910 fReftea coar|
n=int(input(“how many number you have ?”))
a=(]
foriin range (0,n):
item=int(“input(Enter intger number:”))
a.append(item)

Avg=sum(a)/print(“average of entered numbers is:”,avg)
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f=int(input(“Enter temperature number in farnhite”))
C=(f-32)/1.8
Print=(“The valu is c”)

HIINRIRE OGP CTATICT NS (AT

F=float(input(“Please Enter the farhanite temparature”))

c=(f-32)/1.8

Print(‘%0.3if deggre farhanite is =%0=35.0 deggre celcius’
(PCAMNGIRTP NRA NS (AT

Kilometers=float(input(“Enter value In kilometers;”))
Conv_fac=0.621371

Miles=kilomiters*Conv_fac

Print=Print(‘%0.3if Kilometers is =%0=35.0 Miles’%( Kilometers, Miles))
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|=int(input(“Enter the lenght in rectangular”))
w=int(input(“Enter the width in rectangular”))
A=I*w

Print=(“The area of rectangular is=a”)

IO CHaPH [N((II (AT

import math

r=float(input(“Enter the radius of the circle;”))
a=math.p*r*r
Print=(“area of this circle is =%.2f"area)

V4 fam
I CHAaT CFaPe (NI (AT |
a=int(input(“Enter the lenght in square”))
Area=a**2

Print=(“The area of square is=Area”)




e 97 8 M o= @i |
5

"1’. python Sohan.py - C\Users\ASUS\Documents\python Sohan.py (3.8.0)

File Edit Format Run Options Window Help
¥ A program to convert days to manth and days
#f writer: Moni Mukta Sohan

days=int (input ("Enter The Days"))
month=davys/ /30
day=days%$30

print ("Month Iss" . monti), "I).ny:‘.:",day)l

FAACHIAT TSR @R (FaTe @ (i

Er. *triangel.py - C\Users\ASUS\Documents\triangel.py (3.8.0)*

File Edit Format Run Options Window Help

“linput math
a=int (input ("Enter the arm of a triangel A"))
b=int (input ("Enter the arm of a triangel B"))
c=int (input ("Enter the arm of a triangel C"))

s=(atb+c) /2
area=(s(s—-a) (s-b) (s-c))

print ("The area of the triangel 1is",area)
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E:,r triangel.py - CA\Users\ ASUSY Documentshtriangel.py (3.8.0)

File Edit Format Run Options Window Help
a=int (input ("A=""))
b=1int (input ("B=""))

1T o a>b:
print ("Largest Number is"™,a)

1T a<b:
print ("Largest Number is",b)

G AT WOy (RIG 7R fefeaa cepiams

E_:_;. triangel.py - ChUsersh\ ASUSY Documentshtriangel.py (3.8.07)

File Edit Format Run Options Window Help
a=—1int (input ("A=""))
b=—I1nt (input ("B="") )

10 a<b s
Print ("Smallexr Numbexr is",a)

1T azb:
pPrint ("Smallexr Numbexr is",b”
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. even or odd.py - C/Users/ASUS/Documents/even or odd.py (3.8,0)

File Edit Format Run Options Window Help
Number=int (input ("Numbeee12 ) )
L f (Number$s2==0) :

| & ; a0 13 g ('v‘l'lll > Numle 1 i = [ < ¢ ‘II")
L Ff (Numbexrs2==1) 3

print ("The Numbee: is odd™)|

* 15 JLLT ENB T (T6T G0 (NS0 w1 * el
fRfTI carar

num=float(input("Enter a number"))
if num>=0:

if num ==0:
print("it is zero")
else:

print("it is a Positive number")
else:

print ("it is a Neagitive number")
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num1l = int(input("Input number 1:"))
num2 = int(input("Input number 2:"))
num3 = int(input("Input number 3:"))
if num1 >num2 and numl > num3:
print ("Largest number is:" num1)
if num2 > num1and num2 > num3:
print ("Largest number is:" num?2)
else:

print ("Largest number is:" num3)

* (T 2T AT W 2990 fNTT (5161 f&1+Y 231 Wi ©f [Ntg canamw

year= int(input("plwase Enter the valur of year."))
if((Year%4==0 and Year%100!=0)or (Year%400==0)):

print ("This is not a leap year")

else:

print ("This is not a leap year")
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import math
a=int(input("Enter the value of a:"))
b=int(input("Enter the value of b:"))
c=int(input("Enter the value of c:"))
if ((a+b)>c and (b+c)> and(c+a)> b):
S=(a+b+c)/2
Area= mathg.sqrt(s*(s-a)*(s-b)*(s-c))
else:

print("The Triangle is not possible*)
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import math
a=int(input("Enter the value of a:"))
b=int(input("Enter the value of b:"))
c=int(input("Enter the value of c:"))
d=(b*b)-(4*a*c)
if (d==0):

x=-b/(2*a)

print ("Roots are real & equal & are:,x,x")
elif (d>0):

x1= (-b +math.sqrt(d))/(2*a)

x2= (-b -math.sqrt(d))/(2*a)

print ("Roots are real & equal & are:,x1,x2")
else:

print(“ Roots are imaginary”)
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num = int (input("Enter a number:*"))
if num> 1:
foriin range (2,num):
if (num %i)==0:
print (num, "is not prime number")
break
else:
print(num, "is a prime numbere")
else:

print(num, "is a prime numbere")
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num =int (input("Enter a number:"))
factorial=1
if num <0:
print("sorry, factorial dose not exist for negative numbers")

elif num ==0:

print(“the factorial of 0 is 1”)
else:

foriinrang (1, num+1):

factorial= factorial*i

print("The factorial of", num, "is", factorial)
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Terms= int(input("How many terms"))
n1=0
n2=1
count=0
if Terms <=0:
Print ("please enter a positive number")
elif Terms==1:
Print("Fibonacci Segence upto",Terms,",")
Print (n1)
else:
Print("Fibonacci Segence upto",Terms",)
while count <Terms:
Print (n1,end=",")
nth=n1+n2
nl=n2
n2=nth

count+=1
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While True:
print("Enter'x' for exit")
print("Enter marks obtained in 5subjets :")
mark1
mark?2
mark3
mark4
mark5
if markl =='x":
break
else:
sum = markl + mark2 + mark3 + mark4 + mark5
average = sum/5
if(average>91 and average<=100):
print(" Your Grade is A +")



elif (average>=81 and average<=90):

print("Your Grade is A")
elif( average>=71 and average<=80):

print(Your Grade is B+")
elif( average>=61 and average<=70):
print(Your Grade is B")
elif( average>=51 and average<=60):
print(Your Grade is c+")
elif( average>=41 and average<=50):
print(Your Grade is c")
elif( average>=0 and average<=40):
print(Your Grade is F")
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foriinrange (2. 100. 2) :
Print (i)
£y (TP Yo Y FAITER TGP T AL Qe (il
Lower = int(input(“Enter lower range:”))
Upper = int(input(“Enter upper range:”))
Print(“prime numbers between”,lower,”and”,upper,”are,”)
for num in range(lower , upper + 1):
# Prime numbers are greater than 1
If num>1:
for in range(2,num):
If(num % i)==0:
break
else:
print(num)
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for in range(0,5):
for jin range(0,i+0:

Print(“*”,end=“")

Print()
RIS 200w Wt (@i
K=1

forjin range(0,5):
for jin range(0,k):
Print(“*”, end = “”)
K=K+ 2
Print()
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listl.sort()

print(“sort ascending:”,listl)

listl.reverse()

print(l”sort descending:” listl)

726 TNfRE 97 BFa Nftaa caram|
Matrix1={{10,11,12},

{12,14,15},

{16,17,18}}
Martiix2={{1,2,3},

{4,5,6},

{7,8,9}}
rmartix={{0,0,0,}

{0,0,0,]

{0,0,0}}

For | in range (lan(martix1)):
For j in range (len(martix1{0})
Rmartix{i{j=martixi {i} {j};-matrix2[i][j]

For r in martix:
Print(r)
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Def calculateArea():
import math
a=int(input(“Enter the arm of a triangle”))
b=int(input(“Enter the arm of a triangle”))
c=int(input(“Enter the arm of a triangle”))
if((a+b)>c and (b+c)>a and(c+a)>b):
s=(a+b+c)/2
area=math.sqgrt(s * (s-a) * (s-b) * (s-c))
print()area
else:
Print(“the area of the triangle isnot possible”)

calculateAreal)
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def test_prime(n):
if(n==1):
return false
elif(n==2):
return true;
else:
for x in range(2,n):
if(n%x==0):
return false
return true
Print(test_prime(19))
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def recur_factorial(n):
If n==1:
else:
return n*recurfacurial(n-1)
num =int(“input(“Enter a number:”))
If num<O0:
Print(“Sorry,factorial does not exist for negative numbers”)
elif num==0:
If num<0:
print(“The factorial of 0 is 1”)
else:

Print(“The,factorial of”,num,”is”,recur_factorial(num))
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def smallest( ):
num1l float(input(“Enter first number:”))
num?2 float(input(“Enter second number:”))
num3 float(input(“Enter third number:”))
If(numi<=num?2)and(numi<=num3):
Smallest num?2
else:
smallest=num3
Print(“The smallest number among”,numl1,num2,”and”,rium3,”1s” smallest)

smallest( )
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Def file_read(fname):
txt = open (fname)
print(txt.read())
file_read(‘test.txt’)
TR FIRCT O FCOHCF IR IR FEACT GIAAF (Tl (SACAICT FBI A (T
Def file_read(fname):
with open (fname,”r””) as myfile:
data= myfile.readlines()
print(data)
file_read(‘test.txt’)
HTHIN P18 T IR 6« ©f @i i
F= open(‘abc.txt’,’r’)
Print(f.closed)
f.close()print
(f.closed)







